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Sample Paper 3

Time: 3 Hrs M.M. 80

General Instructions:
i.  The Questions paper comprise of five sections: A, B, C, D, E. You are to
attempt all the sections.
ii.  All questions are compulsory.
iii.  Internal choice is given in section B, C, D & E.
iv.  Question numbers 1 and 2 in section -A are one mark questions. These
are to be answered in about 1 (one) word each.
v.  Question numbers 3 to 5 in section-B are two mark questions. These are
to be answered in about 30 words each.
vi.  Question numbers 6 to 15 in Section-C are three marks questions. These
are to be answered in about 50 words each.
vii.  Question numbers 16 to 21 in section-D are five marks questions. These
are to be answered in about 70 words each.
viil.  Question numbers 22 to 27 in section E are based on practical skills. Each
question is a two marks question. These are to be answered in brief.

Section-A
1. Write one approach towards the conservation of forests? (1)
I IREUT > fore U Iury farfe |
2. What is the significance of transpiration? (1)
IS BT T Hed © 2

Section-B
3. How does binary fission differ from multiple fission? (1+1)

fades, JgavsT A fFIUHR AT 2

4. How is MgO formed by the transfer of electrons? What type of bond is formed and what
are the ions present in this compound? (1+1/2+1/2)

MgO SAaeH RIFIRY §RT {6 UHR 911 o Ahdl g2 59 AR § [y ThR
TR} SR HH-HH F T IURYT B &2

5. The refractive indices of glass and water with respect to air are 3/2 and 4/3 respectively. If
speed of light in glass is 2x10°® m/s, find the speed of light in water . (2)

PId 3R U P Suaciharg & oe R 3/2 3R 4/3 8 [T H YobT=1 BT 37 1
TR I Pid & YebTRT BT A 2x10° m/s B

OR
Draw a ray diagram to show refraction of light through a glass prism and show angle of
emergence and angle of deviation in the diagram. (1+4 +%)
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BT b FUSH gRT BT fH0T & 3ruad= &1 fHur 3Rg 918U 3R I ffa ior ug
CEREEEURY)

Section-C

6.What happens when Zinc is added to the aqueous solution of copper sulphate? Give a
balanced equation for the reaction. Name and define the type of reaction involved in the
above reaction. (1+1+1)

1 81T 9 foleh &1 HIIR Tebe & STaitd faerd=H STal ST 8239 Siffear &1 dgferd
IR IHeRu T 139 3ifiifshar & UeR &1 T e ik 39 gw=su|

7. What happens when dilute Hydrochloric acid is added to the following?  (1+1+1)
a) Sodium hydroxide b) Zinc metal ¢) Sodium hydrogen carbonates.
Write balanced chemical equations of these reactions also.

1 g 8 99 Fufofea faae # gegiadiRe ofd SIe ofdl 82 39
fifearar & dqferd I™mafe s o fofau |
a) WSTATRSIERS b) i g ¢) QIETH ERSIH PraC

8. Write the answers of the given questions: (1+2)
a) Name ahormone which is injected to a patient suffering from diabetes.
b) If the cerebellum is not functioning properly, what activities of our body get affected?

fau 7T us F I fafeu
2)39 B BT A1 T s srefest & At &1 fgar Sar g |
b) RIS (STARTSR) & Fafid S 9 B4 F §HAR WR S SH-DIH At foramd
JHTIId BT & 2
OR

What are plant hormones? Write at least two of them and also name the hormone which
promotes growth. (1+1+1)

UeU gEF R 2 B al & 1 fafey ofR 39 g &1 of A forfaw i dielf &6
S T HES § |
9. What substances are secreted by the gastric glands? What are their functions. (1%2+ 1%)

TR TR gRT B A Uerf Wifidd gl € 2 376 R-RT B ¢ 2

10. Write the number of periods and groups present in the Modern periodic table .State the
changes in valency and metallic character of elements as we move from left to right in a
period. Also state the changes, if any, in the valency and atomic size of elements as we go
down a group. (1+1+1)

MY rad IRuft & Jufyd aradf ud v ot Te e | et srad & ad § gl
S TR dcal Bt G 3R UTfedd Uhfa § g ard uRad= &1 fafey | 3t ueR &t
ﬁmgqgﬁ:ﬂ%&nﬁwﬁuﬁwaﬁvmﬁwﬁ@ﬁaﬁuhaﬁq%@u (afe pig
gRacd= g a) |

11. An object 5 cm in length is placed at a distance of 20 cm in front of a convex mirror of
radius of curvature 30 cm. Find the position of the image, its nature and size. Also draw its
ray diagram. (1+1+1)
30 cm ahdl Ao & A GUUT & ATHA 20cm PIGU IR 5 cm a1 TP 9]
T T | 39 U gRT 94 aTa ufafora & Rufyy, wawma v e sta Fin |
T FReT s T st

OR
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How are power and focal length of a lens related? You are provided with two lenses of

focal length 20 cm and 40 cm respectively. Calculate their power and which lens will you

use to obtain more convergent light? (1+1+1)
ToRET ofe T TIshe T i IHehT STHAT | 77 T¥ael § 2 AT 20 cm 3 40 cm % &T o€
3T T | =TT €T ET HLH AHAT AT A1 | ST ZAT o6l § & o6 | A7 T

A SAfHETor F forg geaATe 7 2

12. Answer the following:
a) What is resistivity and what is its unit?
b) Why are coils of electric toaster and electric irons are made of alloy rather than a

puremetal?
EREREIIELY
a) TTALTeshaT FAT1 ¢ ? THHT THS FATE |
b) Ta=[a areex ug faa ot &t geforai & Awior & evqelt it sroar frer-arget
T IR FAT 63T 1T 8 2

(2+1)

13. Name the main constituent of biogas. Why bio-gas is considered an ideal fuel for
domestic use? (1+2)
qTAT T % {&T AT FAT g 2 T TART § ST A [ @97 T FAT /AT 1T 872

14. Explain:
a) On what factors does resistance of a conductor depend?

b) What would be the new resistance if length of a conductor is doubled and
thickness is halved? (1+2)
FTEAT FIoTT
a) Toreft =Tere 1 iy e et o AT Far g 2
b) Tt FHHET =Tere FiT TS AT ST FIers AT FT &F S0 qr 39 ATAF A7 997
gfarer T R 2

15. What are trophic levels? Explain why a food chain should consist of only 3-4 trophic
levels. (1+2)

AT T T § 2 ot o et g s@ar § 3 A7 4 9T &7 F7 g ATMgu?
OR

Distinguish between biodegradable and non-biodegradable substances.Give two examples
of each. (2+1)
SEEIREERE R EXu S R e I s e D S Ll E ol o) By et ety B e e Ll

SECTION-D

16. Answer the following: (2+3)
a) What are amphoteric oxides? Give two examples of amphoteric oxides.
b) Identify and name the compound of calcium which is used for plastering of
fractured bones. With the help of chemical equation show how is it prepared and what
precaution should be taken during the preparation of this compound ?

37 forfem .
a) IHAYHT AFATIT FATY 2 THF a7 IATEXW I1ET |
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b) HTCeTIH % IF ATHE ST 2T AT Tl SIS § TIH eIl & , FIIgATHT 3T
et 919 forfem | e R T g femrew i <5 B T g Sar
g ? T ATRE &l a97d G0 o6 TR 67 qraem={r a1 A7 2

17. Answer the questions: (2+2+1)
a) Identify the functional group and give [IUPAC names of the following
compounds.

i. CH; COCH3

ii. CHj;-CH,- CH,-OH
b) Give two reasons for carbon forming a large number of compounds.
c) Write the structural formulae of two isomers of pentane.

T % L AT
a) 3T T AR F THRATHFEHE F TgaT9 F2 390 TUPACATH forfem |
i. CH;z; COCH;
ii.  CH3-CH,- CH,-OH
b)  FTA % TR T FEAT FAT ATAF B, THF T w107 forfem)
¢) U & I FHTEIA! F HLAATHS GF [0
OR

An organic compound A on heating with Conc. H,SO, forms a compound B which on
addition of hydrogen in presence of Nickel forms a compound C. One molecule of
compound C on combustion forms CO, and H,0O. Identify and write the names of A, B and
C. Write the chemical equation for all the chemical reactions involved. (3+2)

UF FTEH AF A A7E H,SO, % AT TH i 9T AW B dATGT g , T8 IR
e &7 SufEafyr § gregioe & a9 UF JW® ¢ aArarg | C &7 UF (0] qgd
TFaT 3T CO, 3T H,0 FATATZ | A, B ¥ C FT TgATHT 3 39 917 ferfem) ==
st foraTent & Tramataes e forfe

18. Answer the given questions : (2+3)
a) Draw a well labelled diagram of germination of pollen on stigma
b) Why is DNA copying an essential part of the process of reproduction?

o o et 3 3= forfe
a) AR TT TIETRIT o ST AT ATHIhT = TS
b) DNAFT IFAHfd ST, ST FFAT FT sTaeTsh WIT #7941 2 2

19. Answer the following : (2 +2+1)
(a) Explain the terms analogous and homologous organs with examples.
(b) What is speciation?
(c) What is genetic drift?
Rt & 3o e
a) THET 3T THSATT SR FT ISTTELT Aigd ATEIT HloU|
b) ST IZA T 82
c) ATt o= #r 8 2

OR

Answer the given questions: (3+2)
a) “The sex of the children will be determined by what they inherit from their
father.” justify this statement. Draw a flow chart showing determination of
sex of a new born baby .
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b) Name the plant used by Mendel for his experiments. In a monohybrid cross,
what is the phenotype and genotype ratio in F, Generation?

et % s ot
a) “agi &1 R =7 a1 97 Faiia g & ag s foar & gengara =7 @ #7217
T A &7 139 FHAT ol ATEAT IS | U FAT FTE T graar & TasiTa 1279
# o et oft gatzw
b) 3T 9T FT A Forfeu {58 #e 7 ;09 TR # TR PRI U Heheer |
F,E § FIeTeT i ST Squrd #4T g2

20. Explain with suitable diagram (3+2)
a) How is rainbow formed?
b) Why do stars twinkle?

St o Y \graar & e fitvg
a) TRgY e Y aaar g 2
b) amw T fewfewra 82

21.Write the answers of the given questions : (1+2+2)

a) State one main difference between AC and DC.
b) Give two reasons why different electrical appliances in a domestic circuit are

connected in parallel?
c) Explain why, two magnetic lines of force do not intersect?

Feferfea % s fofeu:
a) AC ¥ DC ¥ U# &7 ofqv forfem)
b) = R aRuy § AtHe F@eE Suwaer ard F° § #7411 ATd 8 2 o9
21wy ferferm
¢) I TFEIHIT T@TU U TAL Hl FIT Al Hledl ATEIT Hiou ?
OR

(2+3)
a) State the rule to determine the direction of a magnetic field produced around a

straight conductor-carrying current.
b) Explain with diagram Fleming’s left hand rule .

a) et e =Tersh & B ey At d g U [Fehid & it faerm
ST e & w7 =TT wRm)
b) FATHIT % 9TH ged =% &t = afga ==mear s

SECTION-E

22. What do you observe when you drop few drops of HCl to a test tube
containing . 2)
a) Blue Litmus paper
b) Distilled water
c) Phenolphthalein
d) Sodium Carbonate

FAT T ST AT HCL T Fg g2 TL@Al | STl (o i = [AaaT g |

o o= oo
a) AT TASHT TdTetdd

b) ST STt
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c) IETIECEIGE
d) HIEgq FraHe
OR

Write your observation, when you add quicklime in water contained in a beaker. Write the
balanced chemical equation and the type of reaction.(2)

AT Yo7 forferw, STer o Fereft sftehe HfeeT o=t 97 &1 9T § STede | 39 TS ihaT w1
Hfera FEHTr 3T sTfsrfeRar &1 were off ferfe)

23. Why the angle of refraction is less than angle of incidence when a ray of light passes
obliquely from air to glass slab?(2)
STa TAv=T SanTer foheoT &f= o STt e ZIT gaT | i | A<l g dl Sqadd
0T ATTT KT F FHH FI7 AT g2

24.A student has to connect a cell of 1.5 V each to form a battery of 6V.What would be
the correct way of connecting these cells ( draw it ) (2)

s fa=meff v 6v Ft U a2 a9 F UL . 5V F T AT A T SUSAT GST | 3T AL A
TS Tl T Tl Gl FAT g2 (T hiforT)

OR

Distinguish between an Ammeter and a Voltmeter. How do you connect them in an electric
circuit?

e 37 Areedter § steaw =g fifrw) == 2T F1 o9 g afvoer § Gy SEwe

25. Why do we use KOH solution and germinating seeds in an experiment to show that CO,
gas is released during respiration? )

9 % 39 w4, 5d co, Mewfaa gt g, Kon faeaw i sighia A &1
TEIATA F1 FAT JTaT 8 2

26. Draw well labelled diagrams to show various stages of binary fission in Amoeba . (2)

e # g £ fafere srawustt &1 amifa B g ot
OR
Name the process by which hydra reproduces. Draw diagrams to show reproduction in
hydra. (2)
ETEST | A4 T fafer 1 amw forfew | gresT # S\ &1 = g 39izw |

27. Write your observation. when hard water is added to a beaker containing soap solution. (2)

ST | 1A & fEead # F31 S AT 9% g aTel I&707 H7 forieu?
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